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1
1.1
@
:Sample-SaigaiP939.F7B
: -p-939 p.945
@
- 30
:120.000(m)
: ( )
(©))
«( 2 )
1.2
@
H.W.L.(m) 0.000
L.W.L.(m) 0.000
R.W.L.(m) 0.500
(@) yw= 9.8 (kN/m*)
1.3
@
G.L. 0.500(m)
G.L. 0.500(m)
G.L. -2.000(m)
G.L. -2.000(m)

FORUMS8




@
h1 1.000(m)
h2 1.000(m)
bl 1.000(m)
b2 1.000(m)
b3 0.000(m)
b4 0.500(m)
1.4
@
D
2)
N [ 10.0] kh[ 17600.00]kN/m’
3)
(mm) 50.0 75.0
@
D
e KXy h oK(Zvy h+tw) K=0.500
oKXy h eK(Zyh+tw) K=0.500
2) -10.0m
L] o

FORUM8



(©))
1.5
(€H)
No Co
N y y'’ y sa 5 K
G.L.(m) | G.L.(m) knsme | knsme | knzme| C [ GO | KN
1 0.500 | -13.500 | 14.000 10.0 | 18.0 | 10.0 | 20.0 | 30.00 | 15.00 0.00 0.0
@
No Co
N y |y’ |ysa ¢ K
G.L.(m) | G.L.(m) ks | ke k| €| G| RN
1| -2.000| -13.500 | 11.500 10.0 | 18.0 | 10.0 | 20.0 | 30.00 | 15.00 0.00 0.0
1.6
o | Bi Woi Hbi
(m (m (m Y | ()
kN/m ()| ()
1| 1.50| 4.60| 2.30| 18.0| 30.00| 15.00 | 15.00
1.7
€y ( )
1)
1w
0.00(kN/m)
2)
SY295
oga ( ) 180(N/mm?)
oga ( ) 270(N/mm?)
2.00x 10°(N/mm*)
3)
0.300 mm/
0.020 mm/
[ 0.810
z 0.810
4) a
B 1.00
B 0.60
( ) | 0.60
) 1.00

FORUMS8




1.8
@
1
kN/n?
0.00 10.00 0.00
2)
@)
D
KN/m?
0.00 5.00 0.00
2)
G.L. -2.780(m)
3)
[0.10]
R.W.L.
4)
1.9
1.9.1
@
1
:2.00x 10°  N/mm?
(N/mm?)
SY295 SY390 SY295 SY390
ga 180 235 270 353
&)
[3.00]1/8
1.9.2
@ )
No w h W A | VA
(mm/ ) | (mm) (kg/m) (cm?/m) | (em/m) | (cm’/m)
1(1 400 100 48.0 153.00 8740 874
211 400 125 60.0 191.00 16800 1340
31 400 130 60.0 191.00 17400 1340
411V 400 170 76.1 242.50 38600 2270
5] VL 500 200 105.0 267.60 63000 3150
6| Ilw 600 130 61.8 131.20 13000 1000
711w 600 180 81.6 173.20 32400 1800
8 | IVw 600 210 106.2 225.50 56700 2700

FORUMS8




2
2.1
@
1w
SY295
(G.L. 0.500)m
(G.L. 0.500)m
(G.L. -2.000)m
(G.L. -7.500)m
- ) 8.000 m
- ) 8.000 m
( - ) 5.500 m
)
G.L.(m) (m (m)
-2.270 4.677 5.230 OK
-2.780 4.677 4.720 OK
®)
D
Mmaxx 10°(N.mm/m) Mex 10°(N.mm/m)
30.22 25.85
57.23 51.92
2)
o (m) o a(m)
0.018 0.050 OK
0.041 0.075 OK
4)
Mx 10°(N.mm/m) Nx 10°(N/m)
30.22 0.00
57.23 0.00
o oa
N/mm? N/mm?
37.3 180.0 OK
70.7 270.0 OK

FORUMS8



3
3.1
€h) :
2 :SY295
(©)) :E = 2.000x 10°(kN/m*)
@
—————— 1w
m G.L. 0.500
m G.L. 0.500
m G.L. 0.500
m G.L. -2.000
m G.L. -7.500
m 8.000
Ao cm’/m 131.20
lo cm‘/m 13000
Z0 cm’/m 1000
A cm’/m 106.27
1 cm‘/m 10530
Z cm’/m 810
®)
:30
0.300 mm/
0.020 mm/
0.300x 30=9.000 mm
0.020x 30=0.600 mm
(1 ):a, = 0.81
z ):a:=0.81
: A=aA = 0.81x 131.20 = 106.27 cm*/m
1 =a,l, = 0.81x 13000 = 10530 cm‘/m
Z =0d ;Z = 0.81x 1000 = 810 cm*/m

FORUMS8




3.2

3.2.

@

1
< Bi . "i'-"bi \Jjﬁﬁmé EF:
Hbiﬁ BEEEE W A\ AZ /
| ] )

cot(Z-8) =-ﬁan(¢i+6i—B)+sec(¢i+5i—B)W/

LT WEEL, /BT
i
i
i
i

h DL.

cos §:sin( ¢+ d1)

cos Bsin(o:—fB)

Ci: 45°
|
No Em) y ® 5 Z Ln=h/tang
GL(m) GL(m) ) ) ) (m)
1 -—- -—- ---| 2.300( 18.0 | 30.00 | 15.00 | 56.860 1.502
1.502
1 0.500 0.000 [ 0.500 | 10.0 | 30.00 | 15.00 | 56.860 0.326
2 0.000 -2.000 | 2.000| 10.0| 30.00 [ 15.00 | 56.860 1.306
1.632
Al 1/2X0.132X0.098 = 0. 006
A2 1/2X0.000X2.300 = 0.000
&t A =0.006 (m)
Ws = Ax y = 0.006x 18.0 = 0.11 (kN/m)
B = 0.000 (m)
Wgq = Bx g = 0.000x 10.0 = 0.00 (kN/m)

FORUMS8



Ws + W 0.11 + 0.00
RN = 0.07 (kKN/md)

L 1. 632
&)
1
(R.W. L. G. L. :0.500)
M Ko G. L. 0.500
Wt £ 07000 - hou8
L.W.L. G.L. 0.000
sk G.L. -2.000 7.30

40. 78
Pai = Kni{Z 0% ihi+ d }
cos f3
cos’ ¢ ;
K ai 0 2
sin(¢+6:)sin(pi—B)
cos 0|1+
cos 0 ;cos fB
K = K .icos 6 ;
cos § :sin( ¢ i+6 1)
cot(Li=B) = ~tan(d:+ 6~ B)+sec(¢p i+ 6:-B)
cos Bsin(d—B)
Pt = X Y hitq—2c;
Paiz = 0.500% v ;h;
Not - GL(m) Qm) 8 oG | Z rheg ‘a Pal Pa2 Z
v () kN/m* KN/ ke | ()
1 0.500 | 0.500 | 10.0| 30.00 0.0 0.07 | 0.291 0.02 - 56.860
0.000 15.00 0.0 5.07 0.291 1.48 ———= 56.860
2 0.000 | 2.000 | 10.0| 30.00 0.0 5.07 | 0.291 1.48 -— 56.860
-2.000 15.00 0.0 25.07 | 0.291 7.30 - 56.860
3 -2.000 | 11.500 | 10.0 30.00 0.0 25.07 0.291 7.30 ———= 56.860
-13.500 15.00 0.0 140.07 | 0.291 40.78 -— 56.860

FORUMS8



2)

MR m Kum 6. L. 0.500
H Wt —— 6t —0-000

L.W.L.

0. 000

G. L.
K G.L. —2.000
<|

552. 80

Pri = K,W.{E Y ihit d }
cos f3
K= cos 9. 2
sin(¢ =6 ) sin( ¢+ )
cos 0| 1-
cos § icos f8
K = K ,icos 0

cos 8 :sin(¢pi—01)

cot({—B) = tan(d),-—é1-+B)+se0(d>,-—6i+8)\/

Py = 2 vy hitgt+2e;

cos Bsin(p:+B)

(R.W. L. G.L. 20.50(

No GL(m) (m) g KN /;2 > rh+q K Pp C
v () KN/ P kN/E | ()
1| -2.000 |11.500 | 10.0 | 30.00 0.0 0.00 | 4.807 0.00 | 20.654
-13.500 -15.00 0.0| 115.00 | 4.807 | 552.80 |20.654

FORUMS8




- 10 -

€))
1)
(R.W.L. G.L.:0.500)
4. 90
L.W.L G.L. 0.000
HEEKZE G L. —2.000 4.90
4. 90
No h pw
6L | my | ks
1 0.500 | 0.500 0.00
0.000 4.90
2 0.000 [ 2.000 4.90
-2.000 4.90
3 -2.000 | 11.500 4.90
-13.500 4.90
®
(KN/m?) (KN/m?)
ot ey | @
1 0.500 | 0.500 S— 0.02 0.00 0.02
0.000 —— 1.48 4.90 6.38
2 0.000 | 2.000 —-—— 1.48 4.90 6.38
-2.000 S— 7.30 4.90 12.20
3| -2.000 |11.500 0.00 7.30 4.90 12.20
-13.500 552.80 40.78 4.90 45.68
3.2.2
D
G.L.-2.270m

FORUMS8




- 11 -

M\ K 6. L. 0.500
62
=
6. 38
K G.L. —2.000 12. 20
RABHAR T G. L. —2.270
@
1)
ot ey | @
(KN/n?) (KN/n?) (KN/nt)
1 0.500 | 0.500 0.00 0.02 0.02
0.000 0.00 6.38 6.38
2 0.000 | 2.000 0.00 6.38 6.38
-2.000 0.00 12.20 12.20
3| -2.000| 0.270 0.00 12.20 12.20
-2.270 12.98 12.99 0.01
2)
pl p2 h = (pl1 + p2)x h/2
= ( ) + (h/3)x (2x pl + p2)/(pl + p2)
No h pa Pa y Ma
CLM | ) | wk/m KN/ m KN..m/m
1 0.500 | 0.500 0.02 1.60 2.437 3.90
0.000 6.38
2 0.000 | 2.000 6.38 18.58 1.166 21.65
-2.000 12.20
3| -2.000| 0.270 12.20 1.65 0.180 0.30
-2.270 0.01
b2 21.82 25.85
- . M, 25. 85
ﬁﬁﬁﬁ@#%éﬁ@%m%if@%é:}h:ZP::MBZ:qum(GLﬂﬁwm

FORUMS8



- 12 -

3)
P h M
KkN/m m kN.m/m
21.82 1.184 25.85
b2 21.82 25.85
. L M 25.85
ﬁﬁ%%@#%éﬁ%%&%i?@%é:hzsﬁe:M82:qum(aL10%m
3.2.3
@
3. 00 3. 00
= = = 4.677(m) <5 =5.230(m)... OK
3 0 641387 (m) EERANE (m)
(G.L. 0.500)m
(G.L. 0.500)m
(G.L. -2.000)m
(G.L. -2.270)m
m?) 0.641387
( - ) |D=3.00/B 4.677(G.L. -6.948)m
(m) | 5.230(G.L. -7.500)m
( - ) 0K
( - ) 8.000 m
( - ) 8.000 m
( - ) 5.500 m
B
1) B
B
kH + B 17600. 00 X 1000. 0 X 10 i
g =1 = - — =0. 641387 (m™)
4ET o 4X2.000X 10°X 13000 X 10X 1. 000
kH =17600.00(kN/m*)
B = 1000.0x 10°(m)
E = 2.000x 10°(kN/m?)
I =13000x 10°(m*)
( ) o = 1.000
2)
N 10.0 kH =17600.00(kN/m°)
3.2.4
€Y
1)
Mmax = —— - (1 + 28ho) = 1 e —
max (0] exp an 1 . ZBho

ho:

2B

21.82
2X0.768176

30.22 (kN. m/m)

a o+ 2><0.768176><1.184)ﬂ1-exp[tan‘

(m

1

1+ 2X0.768176X1. 184

|

FORUMS8
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H : (kN/m)
2)
1 . 1
Lm = —e«—tan ——mM—
B 1 + 2Bho
1 B 1
= —————— * —tan
0. 768176 1 + 2X0.768176X1. 184
= 0.444 (m)
3)
Me=25.85 (KN.m/m) ( )
4)
B m* 0.768176
H kN/m 21.82
( ) h m 1.184
Mmax kN.m/m 30.22
) m 0.444(G.L. -2.714)m
Me kN.m/m 25.85
( ) m 0.000(G.L. -2.270)m
@B
1 B
B
kKH-B 17600. 00 X 1000. 0 X 10~ )
B =" =" - =0. 768176 (m™)
4RI o 42.000X 10°X 10530 X 10X 0. 600
kH =17600.00(kN/m*)
B = 1000.0x 10°(m)
E = 2.000x 10°(kN/m)
=10530x 10°(m*)
( ) o = 0.600
2)
N 10.0 kH =17600.00(kN/m°)

FORUMS8
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3.2.5
@
b 51
53
O =31+d32+863 da
= 0.0036 + 0.0114 + 0.0031 =0.0182(m) & a=0.050(m)...
(1 + Bho) - H
61l = ——————
2Bl a B°
(1 + 0.768176X 1. 184) X 21. 82
2X 2. 000X 10°X 10530 X 10®X 0. 600 X (0. 768176)°
= 0.0036 (m)
(1 +2Bho) *H*R
52 = -
2Bl a B
(1 + 2X0.768176X1.184) X21.82X%2.770
2% 2.000X 10°X 10530 X 10X 0. 600 X (0. 768176)°
=0.0114 (m)
Rh:’,
63 = - 2Qi
El o wi
2.770 *
= - X 1. 8547
2.000 X 10°X 10530 X 107X 0. 600
= 0.0031 (m)
B =0.768176(m™)
E = 2.000x 10°(kN/m?)
I =10530x 10°(m*)
( ) o =0.600
H =21.82(kN/m)
( ) R, =2.770m(G.L.0.500m)
@z Qi
Qi
Pi ,
Qi = — - {(-d) - &
6
d:
d=hi /R,
hi: ( )(m)
Pi: (kN/m)
1
- d -
No P h: (0]
(kN/m) hi (ny | =Ni/R (kN/m)
1 1.60 2.437 | 0.880 0.4374
2 18.58 1.166 | 0.421 1.4138
3 1.65 0.180 | 0.065 0.0034
s 1.8547
¥ Qi = 1.85

0K

02

FORUMS8
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3.3

3.3.1

@

Bi Whi | FfRMEE

i

Hmﬁ BEEEE W ﬂ?xxﬁg/
| ] )

WESRL, Bt ERLn

A

L 4

i
i -
i

i

i

|
h DL.

cos(6:+0:)sin(pi+ o)

cot({—B) = —tan(¢i+55—3)+sec(d>j+5i—3)\/

Xy +h+2
€= tanl\/l—(v—q) * tanf
2-C

2z, 0 HEAR = tant K
K R OREEE
v sat

ke (vsat —y’).k

ZZIT, k D ZE R ORREH R
y sat : SRR E & (kN/m’)
vy’ KA LA ARE E & (KN/m”)

cosBsin(¢ —B-0)

| |
No *(‘m) y o 5 K 0 Z | Ln=h/tant
GL(m) GL(m) ) ) ) ) (m
1] - . ———| 2.300 |18.0| 30.00| 15.00| o0.10| 5.7151.576 1.825
1.825

FORUMS8
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| |
No oLmy | M g c, |k 8 |y h+2g Z Ln=h/tang
M 1y |y K C) |k 1 (m
0.500 30.00 0.20| 11.31| 10.000 | 45.317
1 0.000 | 0-900 1100 35799 | 0-0|qlog| 11.31| 15.000 |45.317 | 4°-317 0.494
0.000 30.00 0.20| 11.31| 15.000 | 45.317
2 -2.000 | 2-000110.0 | 35759 0-010750| 11.31| 35.000 |45.317 | 4°-317 1.978
2.472
Al 1/2X0.972X0. 805 = 0.391
A2 1/2X0.000X 2. 300 = 0.000
=t A =0.391 (n)
Ws = Ax y = 0.391x 18.0 = 7.04 (kN/m)
B = 0.000 (m)
Wq = Bx g = 0.000x 5.0 = 0.00 (kN/m)
Ws + W 7.04 + 0.00
Vo= 4. = 2.85 (KN/m)
L 2. 472
@)
1
(R.W. L. G. L. :0.500)
HIFE RS G. L. 0.500
e 6E—0-000 <y 3,43
LWL L. Qmmg\
iK% G L. —2.000 12. 16
=
62. 37

FORUMS8
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ai — K;\; > ih{+
P { Y cosB}
, cos’(¢pi—0)
K ai — 2
SiH((bﬁ'ﬁi)Siﬂ((f)i‘B‘@i)
cos B icos(6+0:) |1+
cos(0i+0:)cosf
Km' = K, 2iCOS 65

cos(0:+0;)sin(pi+5;)
cosBsin(¢p:—B-0)

COt(Ci_B) = _tan((bi+6i_B)+SeC(¢)i+5i_B)\/

PR 10mEL % :
3 (X ’yihl+q)Sin(Cai+61) Ci
Pon = cos 0 sin{ . c0S { aisinC

(= tan'K/l—(V—q) tan 6 ;
201

Paiz = O 500(2 Y \»h,-Jrq)

PR 10mEAi%E :
Pair = by Y ;h1+q*201
Paiz = O. 500 ( 2 Y jhj+q)
No | GLqm) ?m) 3 we | Erhra| K 0 ‘a Pal Pa2 Z
v () KN/ () KN/ kN | C )
1 0.500 | 0.500 | 10.0 | 30.00 0.0| 2.85| 0.20|11.310| 0.437 1.24 | --—- |45.317
0.000 15.00 0.0| 7.85| 0.20|11.310| 0.437 3.43| ---- |45.317
2 0.000 | 2.000 | 10.0 | 30.00 0.0 7.85| 0.20|11.310| 0.437 3.43| ---—- |45.317
-2.000 15.00 0.0| 27.85| 0.20|11.310 | 0.437 12.16 | ---- | 45.317
3| -2.000 | 11.500 | 10.0 | 30.00 0.0| 27.85| 0.20|11.310| 0.437 12.16 | --—- | 45.317
-13.500 15.00 0.0 | 142.85 | 0.20 | 11.310 | 0.437 62.37 | ---- |45.317

FORUMS8
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2)

MR m Kum 6. L. 0.500
HWt—— 6t —0-000
L.W.L. G.L. 0.000

K G.L. —2.000

gz

458. 65

Pvi = Kpi { z Y hit d }
cos f3

cos’(¢p:—0)

sin(d)rﬁj)sin(d)#ﬁ—ﬁj)
cos B icos(§:—05)|1-
cos(6i—0i)cosf

> —
K =

2

’
Kpj = K »iCOS 61

(R.W. L. G.L. 20.50(

cos(6:—0)sin(¢pi—06+)

cot(L=B) = tan(¢i—6i+8)+se0(<ba—5i+B)X/
cos Bsin(¢:+B-05)

Py = 2 v hitgt+2e;

o'l GL(m) Qm) 3 aoe || K 8 ‘ Pp Z
Y () KN/ () P KN/ | ()
1| -2.000 | 11.500 | 10.0 | 30.00 0.0| 0.00| 0.20]11.310| 3.988 0.00 | 18.498
-13.500 -15.00 0.0 |115.00 | 0.20 |11.310 | 3.988 | 458.65 | 18.498

FORUMS8
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€))
1)
(R.W.L. G.L.:0.500)
4. 90
L.W.L G.L. 0.000
HEEKZE G L. —2.000 4.90
4. 90
No h pw
6L | my | ks
1 0.500 | 0.500 0.00
0.000 4.90
2 0.000 [ 2.000 4.90
-2.000 4.90
3 -2.000 | 11.500 4.90
-13.500 4.90
®
(KN/m?) (KN/m?)
ot ey | @
1 0.500 | 0.500 S— 1.24 0.00 — 1.24
0.000 —— 3.43 4.90 — 8.33
2 0.000 | 2.000 —-—— 3.43 4.90 ——— 8.33
-2.000 S— 12.16 4.90 — 17.06
3| -2.000 |11.500 0.00 12.16 4.90 — 17.06
-13.500 458.65 62.37 4.90 ——— 67.27
3.3.2
D
G.L.-2.780m

FORUMS8
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HiF i K G. L. 0.500
24
8.33
&K% G L. —2.000 17. 06
W
(AR G. L. —2. 780
@
1)
ol ey | m
(KN/m?) (KN/m?) (KN/m?)
1 0.500 | 0.500 0.00 1.24 1.24
0.000 0.00 8.33 8.33
2 0.000 | 2.000 0.00 8.33 8.33
-2.000 0.00 17.06 17.06
3| -2.000 | 0.480 0.00 17.06 17.06
-2.480 19.14 19.16 0.01
4| -2.480 | 0.300 19.14 19.16 0.01
-2.780 31.11 20.47 0.00
2)
pl p2 h = (p1 + p2)x h/2
= ( ) + (W/3)x (2% pl + p2)/(pl + p2)
No h pa Pa y Ma
GLCM | m) | wkn/m KN/ m KN.m/m
1 0.500 | 0.500 1.24 2.39 2.968 7.10
0.000 8.33
2 0.000 | 2.000 8.33 25.39 1.665 42.28
-2.000 17.06
3| -2.000 | 0.480 17.06 4.10 0.620 2.54
-2.480 0.01
4| -2.480 | 0.300 0.01 0.00 0.200 0.00
-2.780 0.00
b3 31.88 51.92

FORUMS8
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o M, 51.92
AR O & IERMNE E TOEm S h, = Sp  aLss 1.629(m) (G.L.-1.151m)
3)
P h M
kN/m m kN.m/m
31.88 1.629 51.92
b3 31.88 51.92
" . >M 51.92
AR I 2 D& IERAME E COEmS: h = b 3Lss 1.629(m) (G.L.-1.151m)
3.3.3
€Y
3.00 3.00
D = = = 4,677 (m) <3 =4.720(m)... OK
3 LT, (m) EFEBANE (m)
(G.L. 0.500)m
(G.L. 0.500)m
(G.L. -2.000)m
(G.L. -2.780)m
B (m?) 0.641387
( - ) | D =3.00/p 4.677(G.L. -7.457)m
(m) 4.720(G.L. -7.500)m
( - ) 0K
( - ) 8.000 m
( - ) 8.000 m
( - ) 5.500 m
B
1) B
B
kH - B 17600. 00 X 1000, 0 X 10 i
B =" =4 - — =0. 641387 (m™")
4E] o 4X2.000X10°X 13000 X 10X 1. 000
kH =17600.00(kN/m*)
= 1000.0x 10°(m)
= 2.000x 10°(kN/m?)
=13000x 10°(m*)
( ) a = 1.000
2)
N 10.0 kH =17600.00(kN/m*)

FORUMS8
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3.3.4
@
1
Mmax = —— - (1 + 28ho) = 1 e —
max 23 (0] exp an 1+ ZBho
31.88 D ] 1
= ‘\/(1 + 2X0.768176X1.629)+ 1 * exp{—tan”
2X0. 768176 1 + 2X0.768176 % 1. 629
= 57.23 (kN.m/m)
ho: (m)
H : (kN/m)
2)
1 ) 1
LII] = — e+« —tan _
1+ 2Bho
_ 1 _ -1 1
0. 768176 1 + 2X0.768176X1. 629
= 0.362 (m)
3)
Me=51.92 (kN.m/m) ( )
4)
B m* 0.768176
H kN/m 31.88
( ) h m 1.629
Mmax kN.m/m 57.23
) m 0.362(G.L. -3.142)m
Ms kN.m/m 51.92
( ) m 0.000(G.L. -2.780)m
2B
1) B
B
[kKH-B 17600. 00X 1000. 0X 10~ )
g = = - = =0. 768176 (m")
4EI 4X2.000X10°X10530X107X0.600
kH =17600.00(kN/m®)
B = 1000.0x 107%*(m)
E = 2.000x 10°(CkN/m*)
=10530x 10°(m*)
( ) o = 0.600
2)
N 10.0 kH =17600.00(kN/m*)

FORUMS8
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3.3.5
@
) 51
53
5 =01+82+383 da
= 0.0063 + 0.0246 + 0.0097 =0.0405(m) & a=0.075(m)...
(1 + Bho) +H
01 = —————
2T a B°
(1 + 0.768176X1.629) X 31. 88
2X2.000% 10°X 10530 X 10X 0. 600 X (0. 768176)"
= 0.0063 (m)
(1 +2Bho) H-R
62 = -
2T a B°
(1 + 2X0.768176X1.629) X31.88X%3.280
2X2.000% 10°X 10530 X 10X 0. 600 X (0. 768176)"
= 0.0246 (m)
R’ .
63:lﬂa - 2Qi
3.280 °
" 2.000% 10°X 10530 X 10" X 0. 600 A AT
= 0.0097 (m)
B =0.768176(m™)
E = 2.000x 10°(kN/m?)
I =10530x 10°(m*)
( ) a =0.600
H =31.88(kN/m)
( ) R, =3.280m(G.L.0.500m)
(2)= Qi
Qi
Qi = 525 @) - @)
d :
d=hi/R,
hi: ( )(m)
Pi: (kN/m)
1)
- d -
o (kﬁ;m) hi (ny | =Ni/R (kﬁ;m)
1 2.39 2.968 | 0.905 0.6843
2 25.39 1.665 | 0.508 2.7185
3 4.10 0.620 | 0.189 0.0686
4 0.00 0.200 | 0.061 0.0000
b3 3.4714
> Qi = 3.47

0K

02

FORUMS8
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3.4
@
1w
SY295
Z x 10°(mm*/m) 810
B e ——— 1.000
A x10°(mm’/m) 106.27
@
Nx 10°(N/m)
Mmaxx 10°(N.mm/m) Mex 10°(N.mm/m)
30.22 25.85 0.00
57.23 51.92 0.00
®)
MX 10° NX 10
o —- + a
a + ZX10° AX10?
(N/mm?)
oa (N/mm?)
(cm*/m)
(cm’/m)
o) ca
N/mm? N/mm?
37.3 180.0 OK
70.7 270.0 OK

FORUMS8
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